MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 3)

TWO DIGIT DECIMAL NUMBER 1;21: o
w0y —0.009 x (—84) = ) —4 x (—6.9) =
320 10 x 41 = 317 —0.07 x 0.001 =
i —0.5 x (—0.0053) = 55 —0.001 x (—0.65) =
00,0009 x 0.88 = 19 —0.0001 x 51 =
W) —0.02 x 41 = 20 —10 X 5 =
w0 x (—0.0053) = 2 —0.03 x (—0.016) =
20m —0.003 x 0.091 = 122 —9 x (—0.0018) =
089 —0.8 x (—18) = 3230 (0.0009 x 18 =
309 —0.03 X 6.9 = 20 —0.1 x (—0.096) =
3100 0.002 x 0.28 = 125 —6 X (—3.6) =
i —0.9 x (—0.01) = 20,00 % 0.0074 =
312 —0.0003 x (—3.5) = 27 —0.01 x (—0.035) =
59 —10 x (—0.042) = 20,0004 x 0.084 =
59 —0.0009 x (—0.069) = 2 —0.07 x (—0.91) =
315 4 x 0.87 = 130 4 x (—0.0073) =
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